
Parts

MEMOSUBJECTDWG NO.ITEM

 Base plateKAGRA-VIS-FR-201

 KeystoneKAGRA-VIS-FR-212

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Name Date

KAGRA-VIS-FR-01-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/18
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Assembly bottom filter with fishing rod

REV:3

(Bottom Filter)

1

2



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-02-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/18
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Assembly standard filter with fishing rod

REV:3

(Standard Filter)



 Counter rotationKAGRA-VIS-FR-0711

 Clamp bladeKAGRA-VIS-FR-0922

 Support connectorKAGRA-VIS-FR-1213

AML D42.2 HXStepper motorKAGRA-VIS-FR-0514

 Motor support plateKAGRA-VIS-FR-0615

 L-angle counter bladeKAGRA-VIS-FR-1316

 Support bladeKAGRA-VIS-FR-0827

 Movement nutKAGRA-VIS-FR-1118

 Support rod for bottom filterKAGRA-VIS-FR-1629

 L-angle to keystone for bottom filterKAGRA-VIS-FR-14110

MISUMIShaftKAGRA-VIS-FR-10211

 BladeKAGRA-VIS-FR-19212

DESCRIPTIONSUBJECTDWG. NO.QTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-03-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Assembly fishing rod for bottom filter

REV:3

THIRD ANGLE

PROJECTION

5

4

9

10

6

7

2

8
3

1

11

(Bottom Filter)

12

50

Range Limiting nuts

37

(nominal)



 Counter rotationKAGRA-VIS-FR-0711

 Clamp bladeKAGRA-VIS-FR-0922

 Support connectorKAGRA-VIS-FR-1213

AML D42.2 HXStepper motorKAGRA-VIS-FR-0514

 Motor support plateKAGRA-VIS-FR-0615

 L-angle counter bladeKAGRA-VIS-FR-1316

 Support bladeKAGRA-VIS-FR-0827

 Movement nutKAGRA-VIS-FR-1118

 Support rod for standard filterKAGRA-VIS-FR-1729

 L-angle to keystone for standard filterKAGRA-VIS-FR-15110

 BladeKAGRA-VIS-FR-19211

MISUMIShaftKAGRA-VIS-FR-10212

DESCRIPTIONSUBJECTDWG. NO.QTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-04-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Assembly fishing rod for standard filter

REV:3

THIRD ANGLE

PROJECTION

5

11

10

3

1

7

8

2

9

4

6

12

(Standard Filter)

Range limiting nuts

55

37

(nominal)



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-05-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Stepper Motor

REV:3

THIRD ANGLE

PROJECTION

78

M6x1 - 6g

49( )

AML UHV-Compatible Stepper Motor

D42.2 HX

1:1

42( )

4
2

(
)

3
1

(
)

31( )


2
2

(
)



A-A ( 1 : 1 )

B-B ( 1 : 1 )

A

A

B B

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-06-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Support motor plate

REV:3

THIRD ANGLE

PROJECTION

1:1

8

2 - 4

M4x0.7 - 6H

2 - 6.5


1
1


3
.
2

42 - 

5

1
4
0

2 - M3x0.5 - 6H

4

4

Material: Aluminum

1
5
.
5

8

6

1
5
.
5

15.5 15.5

4

16
16

4 G6

72

21.5 21.5

6.5

21 21

31
31

22

6.5

4 G6

3

M4x0.7 - 6H

M4x0.7 - 6H


1
1


3
.
2

5
1
.
5



B-B ( 2 : 1 )

B

B

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-07-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Counter rotation

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: PEEK

ORIGINATED:

LCGT.0317-04 #160

JGW-D1200904-v3

14.1 (Inner)

50

1
4

3
2

4

0.5 X 45°

0.5 X 45°

4.22 - 

6
.
2

11

11

20 20



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-08-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Support blade

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Stainless 

Steel AISI 304

ORIGINATED:

LCGT.0316-02 #161

JGW-D1200904-v3

1
2

7

M4x0.7 - 6H3 - 

2
.
6

2 - 4.2  8.2

11

11

17.5

17.5

44



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-09-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Clamp blade

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Stainless 

Steel AISI 304

ORIGINATED:

LCGT.0316-02 #162

JGW-D1200904-v3

1
2

44

6

17.5 17.5

4.23 - 



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-10-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Shaft

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Stainless 

Steel AISI 304

Forced into motor support plate (KAGRA-VIS-FR-06)

4


 
g
6

5

8

6


 
f
8

M3x0.5 - 6H

76

884

5

MISUMI (SHAFTS -ONE SIDE MALE SCREW-THE OTHER SIDE FEMALE SCREW TYPE)

PSSFGD6-76-F8-B5-P4-N3-SC4

6

M4x0.7 - 6g



C-C ( 2 : 1 )

C

C

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-11-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Moving nut

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: PEEK

2 - M4x0.7 - 6H

4.22 -  THRU

32

3
2

3

14

22

4

16

6

6

M6x1 - 6H


6
.
5

9

M4x0.7 - 6H2 - 

8 8

8 8

6



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-12-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Moving nut

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Aluminum

ORIGINATED:

LCGT.0317-04 #325

JGW-D1200904-v3

40

3
2

R

2

20.5

25

M3x0.5 - 6H2 - 

3.22 - 

4 - C0.2

32

4

1
1
.
6

1
1
.
5

3



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-13-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

L-angle for counter blade

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Aluminum

17

2
6

8

5

4.2

M4x0.7 - 6H

4

4

4

8

4

8



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-14-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

L-angle to keystone for bottom filter

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Aluminum

1
8

39

5

3

6

3

4.2

M4x0.7 - 6H 

8

8

4



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-15-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

L-angle to keystone for standard filter

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Aluminum

57

1
5
.
5

5

6

8

4

3.5

7

3.5

3

M4x0.7 - 6H

3.2



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-16-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Support rod for bottm filter

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Stainless 

Steel AISI 304

M6x1 - 6H

M6x1 - 6H

4

4

8

8

1
0

1
0

10

C0.2

C0.2

5
6
.
5

(Bottom Filter)



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-17-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Support rod for standard filter

REV:3

THIRD ANGLE

PROJECTION

2:1

Material: Stainless 

Steel AISI 304

4

M6x1 - 6H

10

5
6
.
5

8

1

3

M4x0.7 - 6g

1
0

8

C0.2

C0.2

(Standard Filter)



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-18-v2

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Half width fishing rod blade

REV:2

THIRD ANGLE

PROJECTION

1:1

Material: Maraging steel

12

4
3
.
4

4.23 - 

6

R

1

2

 

-

 

10

4.2

60

X

Y

X Y

0.0 11.00

6.5 10.94

13.0 10.76

19.5 10.46

26.0 10.05

32.5 9.54

39.0 8.94

45.5 8.27

52.0 7.55

58.5 6.78

65.0 6.00

71.5 5.22

78.0 4.45

84.5 3.73

91.0 3.06

97.5 2.46

104.0 1.95

110.5 1.54

117.0 1.24

123.5 1.06

130.0 1.00

130

1
7
.
5

1
7
.
5

thickness 0.3

2

Cancelled



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-19-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Full width fishing rod blade

REV:3

THIRD ANGLE

PROJECTION

1:1

Material: Maraging steel

X

Y

TABLE

X Y

0.0 21.70

6.5 21.57

13.0 21.20

19.5 20.58

26.0 19.72

32.5 18.68

39.0 17.45

45.5 16.07

52.0 14.57

58.5 13.00

65.0 11.39

71.5 9.77

78.0 8.20

84.5 6.70

91.0 5.32

97.5 4.09

104.0 3.04

110.5 2.20

117.0 1.58

123.5 1.20

130.0 1.00

4
3
.
4

1
7
.
5

1
7
.
5

130 60

10

4.2

thickness 0.3

6

12

4.23 - 

2



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-20-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Modification: main platform bottom filter

REV:3

THIRD ANGLE

PROJECTION

1:5

Material: Stainless 

Steel AISI 304

MODIFICATION FROM:

LCGT.10101-04 #370

JGW-D1201181-v4

1

8

0

3

1

3

1

6.52 -  THRU



F-F ( 1 : 2 )

F

F

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

NAME DATE

KAGRA-VIS-FR-21-v3

KAGRA-SAS FISHING ROD

KAGRA Project

2014/07/28
T. Sekiguchi

A3

DESIGNED

CHECKED

APPROVED

1 / 1 

Modification: keystone bottom filter

REV:3

THIRD ANGLE

PROJECTION

1:2

Material: Stainless 

Steel AISI 304

MODIFICATION FROM:

LCGT.10106-03 #373

JGW-D1201181-v4

3
4

7

M4x0.7 - 6H


